B = & I 4 f 7 & 7 H 20 B # 7
s ERLIARKREHEE EE
EHEFZ Fik R R R R R R Bupm

BREOEZ(BHIERF 11:30 0:30 1:30 2:30 3:30 4:30 5:30 (FRISE455)
1 BAR#LER 0 0 0 0 1,600 3,278 3,506 3,805.135 E
2 BAEHFO= 0 0 0 0 1,000 2,532 2,715 3090319 E
3 BRRES 0 0 0 0 0 30 45 2711, E
4 BARRSTR 0 0 0 0 1,000 1,729 3,011 3206, E
5 AERER 0 0 0 0 2,400 3,502 4,325 6,066.418 E
6 BSEE 0 0 0 0 4,200 6,651 7,384 8116. =
7 ERRE®R 0 0 0 0 4,000 6,625 8414 | 11,249.369 E
8 F—LHBL 0 0 0 0 600 1,401 1,480 1677. E
9 BARHWES 0 0 0 0 0 206 228 396. =
10 #HEREFR 0 0 0 0 400 952 1,056 1,076.680 &
11 nLHEHER 0 0 0 0 2,200 4,224 4,871 4960879 E
12 BARHBER 0 0 0 0 0 0 42 63. =
13 BEHRX®R 0 0 0 0 4,800 7,869 10,254 | 10,945.926 E
14 BEDE 0 0 0 0 200 427 aM 443.060
15 NG 0 0 0 0 3,800 6,449 7,306 7,842.205 E
16 NHK5 0 0 0 0 200 411 834 848. E
7 FE #H & = 0 0 0 0 26,400 | 46,286 55912 | 64,056.991 &
] E = 0% 0% 0% 0% 39.92% 69.99% 84.55% 100 %
BRAUIETE 0.009 =

BAUEE 64,057 £

BUOREY 2,070 R

BRERBEIREH+EDRER 66,127 =

FHIRY - T 0t 2 R

BEERIRELRB+HFLIRY-TO1t) 66,129 =




